In this chapter we will deal with the problems

related to directions. In the questions a l(')alcl:::r:;l:";l}own.g 180" clockwise, he
problem based on directions is given and on movin 270_11'cct1_on OC. Finglly, on
the basis of the information given in the the diri ti SSu-clf.ck@se, faces
problem we have to decipher the resultant ction OD, which is est.
direction or the distance travelled following 270° %%
certain rules.
The following diagram illustrates the basic A
directicns.
North(N) (45" CW + 180" CW + ZRQMACW = 45" ACW from
%, Q?g}f,. the original positig n)
P ;,é\ Note: CW- Cloc ACW- Anti-clockwise
Sy ?*"\ 2 A man j§ @ for his friend. He went
N 90 M i . East before turning to his right.
- W{veﬁl "{:— East 20 m before turning to his right
D DN ® sgnd goes further to look for his
N P nd at his uncle’s place 30 m from this
0&‘\%5%\\\ @‘{% ojrit. His friend was not there. From
?f"\ R there, he went 100 m to North before
South(S) ’ 'meeting his friend in a street. How far did

the man meet his friend from the starting
point?

Note that one should be aware o .
(1) 80 m (2)100m (3} 140m

geometric rule, such as Pythagorus Thi

before proceeding further. - | (4) 260 m (5) None of these
Pythagorus Theorem =» AC? = AB? & ' Sol. {2): Clearly, the man moves from A, 90 m
- Eastwards upto B, then turns right and

" AC= VAB® + BC?

A

moves 20 m upto C, then tums right
and moves 30 m upto D. Finally, he
turns right and moves 100 m upto E.

Clearly,

AB=90m, BF=CD=30m

So, AF = AB - BF = 60 m.

Also, DE = 100 m, DF = BC = 20 m.

les for better
some exampre So, EF = DE - DF = 80 m.

1. n ') ¥cing West. He turns 45 in the <. His distance from starting point
kwise direction and then another 180 AE = JAFZ + EF 2 g
in My same direction and then 270" In =
the anti-clockwise direction. In which "F-
direction is he facing now? €
(1) South  (2) North-West (3) West S
(4) South-West (5) None of these ' 20m B
Sol.{4): Clearly, the man initially faces the At £
direction OA. On moving 45 N [
clockwise, he faces the direction OB. D 30mC
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= \J(60)* + (80) = JIGOO + 6400 = YIODOO « 100 m

3.

Chandan faces towards North. Turning to
his right, he walks 25 m. He then turns to
his left and walks 30 m. Next, he moves
25 m after turning to his right. He then
turns to his right ngain and walks 55 m.
Finally, he turns to the right and moves
40 m. In which dirention is he now from
his starting point?

{1) South-West (2) South
{3) North-West (4) South-East
(5) None of these

Sol. (4): Chandan turns towards right from

North direction. So, he walks 25 m
towards East upto B, turns left and
moves 30 m upto C, turns right and
goes 25 m upto D. At D, he turns to
right towards the South and walks 55
m upto E. He again turns to right and
walks 40 m upto F, which is his final
position. F is to the South-East of A.
So, he is to the South-East {rom his
starting point.

25m
C_ >

A

Deepika move a djstance of 75 m towards
the North. ghe theén tumed to the left and
walking fi out 25 m, turned left again
and wal€gd 80 m. Finally, she turned to

t 7 &t an angle of 45" . In which

irgcti as she facing now ?
(lWh-East {2) North-West (3) South
(4) South-West (5) None of these

Sol. (4): Deepika started from A, moved 75 m

upto B, turned left and walked 25 m upto
C. She then tumned left again and moved
80 m upto D. Turning to the right at an
angle of 45°, she was finally moving in
the direction DE i.e., South-West.

C.26m 1
8Gm } T6m
A
D

.,;

Satish walks a distanceic km towardy
North, then turns to left and walka fo;
2 km. He uguiryﬂ}rn cit and walks for 3
km. At this poigt he tyrns to his left agajp
and walks for 3 ow many Kilometres

it My

is he from the starting point?
(1) 1 km & km (3)3 km (4) 5km

Sol. {1): 1~hg@%ﬁ_\r‘c ts of Satish are as shown
g

N & : t&ié\‘éw
O

QU AtoB,BtoC, Cto D andD to
‘E)"i-x.g ‘arly, AD = BC = 2 km,

KA

Sty g2
\ - £
il I km
1 ki
D 2km A
L 3 km >

So, required distance = AE = (DE - AD)
=(3-2)km. = 1 km

Namita walks 14 m towards West, then
turns to her right and walks 14 m and
then turns to her left and walks 10 m
Again turning to her left she walks 14 m
What is the shortest distance (in metres
between her starting point and the presen
position?

1)10m (2)24 m 3)28 m(4) 38 m

8ol. (2): The movements of Namita are as showr
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infAtoB,BtoC,CtoDand D to E).

Clearly, Namita's distance from his initia
_position = AE = (AB + BE) = (AB + CD)

= (14 + 10)m = 24 m.

D 10m ¢
E 4 14m
............... e e
E B1 A
4m



A rat runs 20' tewards East and turms to
right, runs 10" and turns to right, rung 9
and again turns to left, runs 5 and then
turns to left, runs 12’ and finally turns to
Ieft and runs 6’. Now, in which direction

is the rat facing? Bol.
(1) East {2) West  (3) North
(4} South (S) None of these

8ol. (3): The movements of the rat from A to G
are as.shown in

Clearly, it is finally facing the direction

FGi.e. North.
A '_20' 8
p ,¢ {° ¢
5'{ ¢ +5‘
F
E 12 F

ination ig
(1112km (2) 15 km {3) 16 km (4} 18 km
{2): The movements of the person are as

shown in %
2o

Clearly, AB = SW

BC=3AB?1§ x 3) km = 9 km,

CD=5AB =¢,L 2\3) km = 15 km.
o b

Draw AE 1°CD

D_“_"—‘lSkm E-— ¢

=

A

8. Ma!ya startsf fro;‘n point T, walks straight to Thcn'?-f.QE':' AB = 3 kmand AE = BC = 9 km.
point U which is 4 ft away. She turns left A ;ﬁ
at 90° and walks to W which is 4 ft away, ‘Q_? J€D - CE} = (15-3)kan = 12 km.
turns 90° right and goes 3 ft to P, turns In"XAED, AD? = AE? + DE?
90° right and walks 1 ft to Q, turns left at o~ S 2
< e . iy, “AD?=97 + 12
90° and goes to V, which is 1ft away and
once again turns 90° right and goes to J.? AD? = 8] +144
3 ft away. What is the distance be?‘fé:\en\ _ AD? =225
and R? "
(1})4ft (25t (371 @f&‘fra-—f AD=J225 =15
8Sol. {4): The movements of Maya fraxn T to R Minimum distance = 15 km.
are as shown in f% 10. I am facing South. I turn right and walk
Distance between T and R 'ﬁ;,«v 20 m. Then I turn right again and walk 10
_ - TU AP OV m. Then | turn left and walk 10 m and
= TR=TU + UR =TU & then turning right walk 20 m. Then I turn
=(4+3+1)ft =8 @ right again and walk 60 m. In which
£, 3T R direction am I from the starting point?
- {1) North {2) North-West
(3) East (4) North-East
8ol. (4): The movements of the person are from
u A to F, as shown. Clearly, the final
position in F which is to the North-East
of the starting point A.
44N — —» F
- E > 60 g
T

A person starts from a point A and travels
3 km Eastwards to B and then turns left
and travels thrice that distance to rt-:ach
C. He again turns left and travels five times
the distance he covered between A and B

KX




Exercise: d

1.

Roy walks 2 km to East, then turns North-
West and walks 3 km. Then he turna South
and walks 5 kan. Then again he turna West
and walks 2 km. Finally he turns North
and walks 6 km. In which direction is he
from the starting point?

(1) South-West (2) South-East

(3) North-West {4} North-East

(S} None of these

Rana travels 10 km North, tums left and
travels 4 km and then again turns right
and covers another 5 km. He then tums
right and travels another 4 km. How far is
he from the point of starting of his journey?
(1} 5 km (2) 4 km (3) 15 km

(4) 10 km (S) None of these

Ram starts from a point A and walks 6
km North, then turns left and walks 8 km.
Then he turns left and walks 12 km up to

24ySomh

turned to his I=it and walred 3 Yn g D
and Shashi walked 10 her righy and
wallted 2 bin te C. Horw Iar are they from |
rach other?
(1) 10 bm
(4) 16 km
Ram in facing Horth-Vest. Heftyrny 4,
clockwine direction by 90, then o ;o
the anti-clockwise directivfi-and wum,
another 90 in the sampdiz4ction, i,
which direction is he fading nos?
(1} South-Westi2j Wz;t e (2) South
(4) Seuth-Bast £5] Hane Of these
Lazman vent 1S km 3 North, then tumeq
V/eat and cuvered?¥GO k. Then he tumedq
South and cbvered 5 km. Finally turnin,
to East hgj,gw:rcd 10 km. In which
dircctirﬁ?ii,-\__fff::l_’f)om th« startng point?
f, O e

(1}”&3%} (2) West (2) North

L)
(5} lione of these

(2) 12 ¥em 12314 b
{5) Hione of these

the point D. In which direction is Ram [0, "‘}ng‘,{ from 2 point, walks 4 miles Horth,

facing?
(1) North {2) South (3) East
(4) West {5) None of these

Sita walks 1 km to East, tums night.and

walks another 1 km and then tyms leff

and walks 2 km and again turning.to l}z'r

left travels 5 km. How far is Sita from her
. . . LA

starting point? (Consider the,shortest

distance) -, r$

: LY
{1) 8 km (2) S km 313];71:111
(4) 6 km (5) Non&,g ‘these

Vishal walks 2 km tg®ards South. He then
turns right and l]'m_,;';km. He now turns
left and walks “urther, he moves 2
km after tumimpgto the left. In which

direction i?d;e' ng?
(1} Westp (2) East (3) North
(4) Soulf} %, (5} None of these

/;an i valked 10 km towards Morth.
_tcfm tHere he turned back and walked 6

kmetowards South. Then he walked 3 km
towhrds East. How far was he from the
starting point?

(1) 3 km {2) 6 km (3} 7km -
{4} S km (5} None of these

Shashi and Sunil start from 0 (Zero) and
walked in opposite directions. Shashi
covered 7 km towards West to A and Sunil
walked to East 5 km to B. Then Sunil

L}

i1.

12,

13.

{ ‘turhis to his right and valks 2 miles, again
(c* *+xirms to his nght and walks 2 miles, again
“Yr turmns to his right and walks 2 miles. In

VN 3

which direction would he be now with
respect to the starting point?

(1) Nenrh {2} South (3) East

(4} West {31 Hone of these

Pran and Khan start from their office and
walks in cpposite direction, each travelling
10 km. Pran then tums left and walks 10
km, while Khan turns right and walks 10
kmn. How far are they now from each other?
{1)0 km (2) 5 km (3) 10 kan
(4) 20 km (5} Hone of these

A taxi driver commenced his journey from
a point and drove 10 km towards Nortb
and tumed to his left and drove another?
km. After waiting to meet a friend here.
he turned to his right and continued 10
drive another 10 km. He has covered 3
distance of 25 km so far, but in whicd
direction would he be now?

(1) South (2) North (3} East

{4) South-East (5) None of these

If A stand on his head with his facf
towards Horth, in which direction will b*
left hand point?

(1} Horth-East {2) North {3) East

{4) Horth-West (5} None of these



14 A car travelling towardn South covern o
distance of 4 km, then (urnn right and
r.um; mnother 9 km and aguin turns to the
right and stopped. In which direction docn
it fnce now?

(1) South (2 North  (3) West

{1) Enat (5) None of these

A man starts from g point walks 2 km
townrds North, turns towards hig right and
walks 2 km, turns right again and walks.
In which dircction is he going now?

{1) South (2) South-East

(3} North (4) West

(S} None of these

Harihar starts walking straight facing
S?ut!l. After walking 30 m he turned to
his right, walked 25 m and turmed to his
left. Again after walking a distance of 10

En he turned to his left. In which direction
is he facing now?

{1) West {2} East

{3} North-East (4) South-West

{5} Nonc of these .
Ashok walked 5 m towards East, tookf

15.

16.

17.

took a right turn and walked 15 m. Im.
which direction is he facing now'.-’::;‘ P
(1) South (2) West (3} ;lo“ﬁ‘?“
(4) South-West (S) None of these,

Q walked 20 m towards Wpé:&:gook a left
turm and walked 20 m. H_e then took a left
turn and walked 20 m@ﬁb;ﬂg&iin took a
right turn and walk?dggp-‘ . How far is Q

now from the startin‘g__; oint?

(1) 40 m ifs%,;n (3) 80 m

(4) Data inad ‘u"a? (5) None of these
Tom walked"]Q mfles from point P towards
the Ea%?“ e}then took right turn and

walked. Symiles and taking another right
A again for another 5 miles. In

/?&Qg h gﬁ’ection is point P from where Tom
i§‘m}q_ﬁanding now?
(1) West (2) North-West
(3) North-East (4) Can't be determined
(5) None of these

Shyam walked 6 m towards East, then
took a right turn and walked a distance of
9 m. He then took a left turn and walked
a distance of 6 m. How far is he from the
starting point?

18.

19.

20.

21.

22,

23.

i1 "5 tn 22t m  (2)18m

(4} Can’t be determined (3) Heme of these

F TS SN . .

:(:::lf ﬂt'drtcd wall:.mg terwards South, He

< @ right turn after walking 10 m. He

again 'took a left turn after walking 20 m.

In which direction is he facing nora?

(1) South {2} Horth {2) ‘f‘ t

(4) East (5) Can't be dgfermified

Raman starts from poini‘;’_{_’%iyd walks

toward South and stops appoiit Q. He now

takes a right turn follu®ed By a left tum

and stops at point B2 &yfinally takes a

left turn and stob2 at point S. If he walks

S km before taking ¢ach turn, towards

which direction willzRaman have to walk

from point $to reach point Q7

(1) North &,/ /12) South  (3) West

L i

(4) Bas ™. i,(3) North-West

Kuria_g,\:??ikcd 10 m towards the East,
;t_up‘n_g:d';right and walked another 15 m.

Thenshe turns left and walks 3 m. He

£ findlly takes a left turn and walked 6 m.

. ' which direction is he facing now?

25.

26.

35

ERr
. ... £ 7*11) East
right turn and walked 10 m and again he ~3 ~

J
24.

{2) Nurth (3} West

(4) South {5) South-West

Ahmed is standing to the West of Amit and
North of Rachna. Satish is standing to the
West of Rachna but to the South of Samir.
Satish is in which direction from Amit?
(1) West {2) South-West

{3) South {(4) South-East

{5) None of these

Mohan walked 40 m towards North, took
a left turn and walked 20 m. He again took
a left turn and walked 40 m. How far and
in which direction is he from the starting
point?

(1) 20 m East

(2) 20 m North

(3) 20 m South

(4) 100 m South

(5) None of these

Samir was standing facing East. He tuned
to his right and walked 5 m, again turned
to his right and walked 7 m. Then he
turned to hisleftand walked 4 m. In which
direction is he facing now?

(1) North (2) South  (3) West

(4) North-West (5) None of these



27.

28.

29.

30.

31.

32.

33.

If M is in the South of B and B is in the
West of N, then in which direction is N
from M?

(1) North {2) East

(3) North-East (4) South-West

(5) None of these

Navecen walks 20 m towards East. He then
turns left and walks 10 m. He again turns
left and walks 20 m. How far is he from

his starting point?

(1)10m (2)5Cm  (3)40 m

(4) 30 m (S) None of these

Mohan starts walking towards East and
walked 30 m, then he turmed right and
walked 50 m and he again turned left and
walked 40 m. Again he turned left and
walked 50 m. Now, how far is he from his
starting point?

(1} 170 m (2) 70 m {3) 120 m

(4} 110 m (5} None of these

A walks 10 m North, then he turns right

and walks 10 m. And then turning left
each time, he walks 5m, 15mand 15 m

respectively. Now, how far is he from his,

starting point. P
(1)5m (2)10m  (3)1§/m
(4) 20 m (S) None of these” ~‘d <

Praveen walked 30 m toward&East, then
he turned right and walked, 20 Again
he turned right and walke 'i'rr How far
is he from his starting ppin

(1) 30 m (2) 80
(4} 20 m {5)
Atul walks 20

turns left an

turns nght
hc turns

3)50m
n& of these
3 South. He then
30 m. After that he
lks 10 m. Then again
d walks 40 m. After this
and walks 30 m. Now he
in which direction is he from
g point?

West

stop

[3) North-West
(4} Starting point '
{5) None of these

Amit walked 20 m towards West; turned
right and walked 30 m, again he turned
right and walked 20 m. How far was he
from his starting point?

34.

35.

36.

7.

38.

39.

36

(1) 70 m
{4) 50 m

Dhanesh walks 50 m East and then he
turns to his right and walks 30 m. Now in
which direction is he from his starting

point?
(1) South-West (2) North- East {?.

(3) North-West  {4) Sout}t‘.%ls%
(5) None of these

Four persons A, B, ﬁ
along the dlﬂ'et}:qt ﬁd
sitting towards’ left of:

West, is snttmg to
facing South? e

(na {,,? 2B - (3BorD
(4] Datg qih.acﬂr:ql.f:altc (5) None of these

chrpcrsons P, Q, R, S and T are sitting
I%jound a round table. Q is sitting between

(2) 40 m (3} 30 m
(5) Mone of thesc

}g 'D are snttmg
of a table. B is
. C who is facing
nght of D. Who is

and S. Pis not immediate left of S, then

Qwh is sitting second to the right of Q?

n') P (2) R (3) S
(4} Data inadequate (S) None of these

Q walked 20 m towards West, turned left
and walked 20 m, then he turned right
and walked 20 m and again turned right
and walked 20 m. Now how far is Q from
his starting point?

(1) 40 m (2) 50 m (3) 80m
(4) Data inadequate (S) None of these

If North-East becomes West and South-
East becomes Noirth then what will West
become?

(1) South-East
{2) North-East

(3) South

{4) North-West
(5) None of these

Imagine that you are walking towards
South. After sometime you turn left. Then
again you turn left. After that you tum
right and once again turn to the right. In
which direction you are walking now?

(1) East (2) West (3) South
{(4) North (5) None of these



.

41,

42,

43.

44,

45.

Manish and Rinlkay Marin wikday |
same point, M Went nonl
twn Point. Manish goen townivds Wen il
covers A ke and then he turne vight sl
Roen 3 kan, Rinku goen towardn North aul
covers 3 km, then 1armas vight aod poes 5
km. How far is Manish from the Rinka
nowy

{1} 1 km (2) 3 kin (Y 2 lan
{4) 7 km {5} None of 1these

Sarla says to Surcsh that she fs reing to
the North direction 10 hide, but ahe w;:nt
2 km East from there and then 3 ki
towards South amnd aein 2 km towaede
West and then ngain same distunce
towards the starting place. Now in which

direction is Sarla from her hiding, place?
(1) North {2} South  (3) West
(4) East (5) None of these

Four fricnds are sitting along the different
sides of a square table. Meena is sitting to
the different right of Padma and Beeng is
sitting to the left of Krishna. Which of the
two friends are sitting opposite to each
other while Krishna is sitting to the left

Padma?

(1) Padma and Krishna

C

rd

(2) Krishna and Beecna
{3) Beena and Meenn
{4} Meena and Krishna

(5) Padma and Mcena Q}
Girija, Ishan, FrensigandHema arc sitting

on a bench. Hema «E ing ahead and to
the immediate 14¥P%f Frensis. On one side
of Ishan Frengfs-
side Girija j§’s
extreme f#

g 51tting and to his other
2)fg. Who is sitting to the

(2} Ishan {3) Frensis

(5} None of these

ooks have been kept such that, Eis just
ab@t A. C is just below the D. A is just
above D. B is just below C. Which book is
at the bottom?

(1A 2) D 3B
“4@cC (5) None of these

I am standing on a river shore wifh my
back towards the river. An object in the
water flows on its own from my left and

41,

BOcu to iy 1y
o Kaul, 1o
Inelngs

(1) leum
(N Houil

. River in Dowling lrom Went
b whieh direction wm |

(4 Went () Horth

(53) None of theue

My houne's door fuees 1he Liant
house In wttnched to the bae of my
houde, whone door bn

X iil the
opponite direction of iy he he b‘ﬁt it in on
the main rond. Towisr ijeh dircction
the door of Srienm's_lfee’on the other
tidde of the rond illﬁﬂﬁ??f
(1} Townrda lid‘

o/
{2} Toworda Wen
(3} Townre ‘ 31:
(4]°T(1>|{flrl:ﬂu,. uth

v
(5) ¢ ‘}}fm in not clear

47.’§®I¥iu between Mohan and Suresh.
f\lm;m:sh ig on the immedinte left of Suresh

48,

~eiahd Sohan is on the immedinte right of

o

"Mohan, All are standing facing North, then
who is on the extreme right?

(1) Mohan {2) Suresh  {3) Ramesh
{4) Sohan {5) None of these

Ashok went 8 km South and tumed West
and walked 3 km, again he turned North
and walked 5 km. He took a final tum to
cast and walked 3 km. In which direction
wag Ashok from the starting point?

{1) East {2) North (3} West
{4) South (5) None of these

Directions (49 - S0):

Kiran walks 20 m North, she turns right and
walks 30 m, then she turns right and walks 35

m,

then she turns left and waiks 15 m, then

she again turns left and walks 15 m. Once again
she turns left and walks 15 m,

49,

50.

37.

How far is Kiran from her starting point?

(1)25m (2)15m (3)45m
(4)30m (S) None of these

In which direction is Kiran facing now?
{1) East (2) West (3) North
{4} South (S) None of these
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Answer with Explanations 5. 2 A
1. 3; Fo } 2 Km
< c TKkm °
5 Kmy 3 m
Ys Km %
A 2Km B
ZKm D
Ob\?iously, F is to the North-West of A. D g Kg'
2. 3 p 4Km g Vishal is facing Eas € end of the
5 Km journey) %
Cakm|®
10 Km
A
Hence, required distance
AE = AB+BE=AB+CD
=10+ 5=15Km
B AD = [(ACP +(CD)? =.[4? +3?
3. 2; 8 Km
= Jf25 = 5Km
! 6 Km ::'.-3‘-‘-,-‘. o 7%
® P
12 Km 3 Km 3 Km
& R 2
A 7 Km 0
nl  Zero SKm B
Obviously, Ram igfad g South. Here, the required distance,
4. 2; Wehave to find He distance between CD=AB=7+5= 12 Km
the two poi S%ahd E Note:- CW = Clockwise, ACW = Anti-clockwise
I 8. 4; A B
Km o]
l PN
2Km D C D
Here, 90" CW + 180' ACW + 90" ACW
i:g'EBE-FD=5-l=4KIn = 180" ACW
- + = =
CD=1+2=3Km from the original position. Thus, we can
- AE = J(AFy +HEFP =32 4 42 conclude that Ram is facing point D from
the point O. Thus, he is facing South-
= J25 =SKm East.

a8




C .
[ 10 Km B ' towards West.
S KITI. F 3 A
- 14 2; 8 Km
D 10 Km E
4 I53Km D

C B

| : 9 Km ] @
OA
Here A is starting point. E is the final des-

15.1; B—zg—1=0
tination. ' Q
Now, it is clear that E is t
10.1; 0 the North of A. 2 Km
B > C
2 miles A

.
-

4 miles4 2 miles

As

[~}
Here, A is starting point and E is the fi-
nal destination. Now it is clear that E is

to the North of A, Now, it is obvious that Harihar is facing
11.4; : East.

Pran S Khan

10 Km 0 10 \‘_ 17.2; A o 5Km B
110 Km 2 10 Km ‘
Q 10 Km
C ” D

The required dis@ CD = AB = 10 + D . 15m €

10 = 20 Km Now, itis clearthat Ashok is facing West.
12.2; 18.1;

)

2] O 2o
%f: ‘,

I 3 20m
10 Km 20m

28m__Qgearting Point

, driver is facing North
Obviously, the driver is facing North.
i ards
.3; If A stands on head with his ft-acc tow, . om
1.3 North, his left hand will point !:owar:ds Required distance = (20 + 20)
East whereas his right hand will point
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A

19 2. v

' N 1o P__10mites 9 & From the above diagram it ig clear that
\ y l Kunal is facing North.
E 5 miles 4. 2
I S Smies R o o,
S Ahmed  Amit

It is clear from the diagram that point P
is in North-West direction,

o
20.1; PESSRMQ R Safish  Rachna +&
’ ) T Look at the position of Satish,ah®Amit. Itis
. -9 m : clear that Satish is to pth-west of
) PR Amit.
l Tl ' 25. 5; 20 metres, West

Sn—ﬁim—uT

In the above figure ‘P’ ig starting point
and T’ is end point.

NOW, P1? - pR?, RT?

PT = Jpnhm-?

= Ji22 +92 = fl4a+8] = 525 = 15m
[- PR = PQ + ST and RT = QS|

21. 1; Staning point N
10m %
W E
20m

End point @ i
From the above figure it is cl@

Prabir is facing South.

. P
22. 1; 27.3; Look at the positions of B, M and N.
5 5 Km o o
Q B N
et o
©
Here, Pis st int whereas S is end M
point. Obviously N is to the North-east of M.
In order h point Q Raman has to
travel s North. 20 m
23.2; 28.1; D —q4- C
> B A10m
10m
—P-
A 20m
AD=10m
Y15m
6m
C—— 3D
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) 70 ] 50
— ) 34. 4; m
A om |° E A .
0m
v 50m
» C
Point C is to the South-east of
- 35.2; B %
C 40m D "%,
Obviously, AE = 30 + 40 = 70 m A C Qi%

30.1; & 15m D §

B 10m 5m ltlsthomé:n uth
- C 36.4; PorR tgﬁ

15m

We have jdformation that Q is sitting
between & find S. We get two possibili-
A 10m ties C pndiCase Il.
Fl—m A T
Sm
AF=5m
s
. 30m Q
IfPis not immediate left of S, thcn we get
v 20 m
RorP P
< R
Here, AD=BC = 20 T
. ]
32.2; F A o
1 Q
Case:I Case : II

Now it is clear that the person sitting
second to the right of Qis Por R.

37.1; E B — A

20m

o 20m v 20m
33.3; c 0m
30m D~ 20m °©C

Obviously, AE=AB+DC

B 20 m = 20 + 20

=40 m

Obviously, AD = BC = 30 m.
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A

38. 1; South [ | ’ﬁ“

West i . __ )
- S -—— e —— -
T T ——— ——— T TS -
* - _—— . em =T e e - — - :- e , -

South-East =X

According to the informatiy@l )Ephie ques-

' tion part, the situation i fapwn above
Fast ‘ North. Now, itis clear thatthe facing North,
v
39.3;
D B

Eok$at the positioni of the two houses.
t R clear that Sriram's house is facing

; The order of the person's are :

2kmB

41.2; A—p— , 0
E
Yy 3km \ Q " Now, if is clear that Sohan is sitting on

o 'y ° o o
Ramesh Suresh "Kamla Mohan Sohan

extreme right position.

K M

o  48.4; . |
42.4; B Q’ 48. 4; s |_

' P
43.1; The position e four persons will B :
be as follow. _ 3 km o :
. ® ° o Obviously, E i
| Eema R Ishan  Gigja o4 3: j:n E is to the South of A.
ow, i vious that Girija is sittin i b ; ' ‘
on %r:me right end. . B C
44 3; of the five books are: : A20m- _
m v35m
G 15 m
(<) A : A aom —dg F
oD | : 1 1sm TN
- ' . D
- Obviously, AG=BC = aA0m

o B ' 50.2; West

Now, it is clear that the book B is at bottom.
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